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26 NEIRECH)FRIE

The percentage of high quality water in different
countries

100%

95% ~ P

90% —

‘\\\\\\\\‘ ——Britain
85% \/ France
80% ——Germany

Italy

75%
70%

1950 1960 1970 1980 1990 2000 2010 2020 2030
B i N EE L]

1. 7 19504, #E A &= H 4 LY high quality water (97%)
Britain hiad the highest proportion of high quality water at 97% in
1950.

2.F 1950 &, FEEA s 4 LR high quality water97%, L HAh
X U R 2 751 5%
Britain had the highest proportion of high quality water at 97% in
1950, around 5% higher than the figures for other countries.

3. 1£ 1950 4, JE[EA & E 4 A high quality water 5 97%, #HEL
o B FH KL #LE 90%.




The proportion of high quality water in Britain was the highest in
1950, at 97%, compared to around 90% in other countries.

4. ML E, EETE 1950 FH 1K — 51 High quality water [ L4
(90%)

In contrast, France had a smaller proportion of high quality water at

90% in 1950.

5. 1950 4£, high quality water F H 451 78 HoAth [ A% — 5.
The proportion of higher quality water was lower in other countries in
1950.

6. 8 [ AR AE AR A AN I T2 I
The figure for Germany remained the lowest thfeughout the
period.

7. £ 1990 4, 7 EFEE TR 1 RISAK (80%) .
The figure for Germany fell to the lowestJevel in 1990 at 80%.

8. 1 2030 4, V& MEUE 7T Aed ik T K4 96%.
The figure for France is likelyto.reach its peak in 2030, at 96%.

[Epigae

9. HEFIILE 9 B E A RF, 7E 2030 T 90% 7K 2342 i i &
7K .
The projection is that over 90% of water in Britain, France and Italy
willbe of high quality in 2030.

1070 B [ o /K 0 23 B ARR R B3 T 2010 4R 92%.
The proportion of high quality water inBritain dropped steadily to
92% in 2010.

See KL
11, fEsE SR SR BN 17 PR T R 92%.




The proportion of high quality water inBritain saw a steady decline
to 92% in 2015.

12, HHEE T EKGFRR R T3] T 2015 £ 89%.
France saw the proportion of high quality water climb steadily to
around 89% in 2015.

I3 A R 454

13, JKBUERR T8 E LSNP B SR T 7, BdEAE 203052 A
EAFREER LT

The water quality in all these countries except for Britatn improves,

with figures rising to varying degrees by 2030.

14. VSR K E B TN — AN THiR ££22030 4 2] 96%.
The proportion of high quality water in France‘is projected to show an
upward trend, reaching 96% in 2030.

15.  SEHUA BB IR ARG, 1E 2030 ) L7 F 2
91%.

The trend in the figure for Britain is expected to continue, dropping to

almost 91% in 2030.

16. ORI E AU T RS 85%, < J57E 2015 L THE) 96%
The proportion of highrquality water in Italy dropped to 85%, before
rising to 96% in:2015.

There be %!

17, SSEE M EE A A R E R T

There is a marked increase in the figure for France.

18. fEEEME, H— D2 T EE 80%.
There was a sharp drop to 80% in Germany.

FH]

19. 1980 4, yEEE R EAKKEE] %3] 85%, {HZTE 2015 4 I




F+2] 92%.
The proportion of high quality water in France declined to 85% in
1980, but increased to 92% in 2015.

20. = KAF) high quality water [/ ELBIE 1980 44 1 k%) 85%, R
JEAE 2015 5F LK E] 92%.

The proportion of high quality water in Italy dropped to 85% in around

1980 and then rose to 92% in 2015.

SE A

21.  BERFIEFEKKGITE 1960 £/ 4~ 45 83%, 2 Ja1E
2015 4 715 96%

The proportion of high quality water in Italy dropped-to 83% in around

1960, after which it rose to 96% in 2015.

22. EHEEFEKPLAIE 1990 FRFA92.5%, EI—4, Bt
T E A .

The proportion of high quality waterin France reached 92.5% in

1990, when it surpassed the figure for Britain.

RS

23.  {E[EHBUE ATAEAE 2020 E ETHE] 92%, BEIRE A RELE 2030

N FEF] 89%.
The figure for.Germany is likely to rise to 92% in 2020, although it
will possiblydecline to 89% in 2030.

24, R RK B LU IR S B R BRI, 95 A BUE B M
S .

While the proportion of high quality water in Britain declines, the

figure for France shows the opposite trend.

HoAt

25.  EAMBIHFELE 2015 FEF LIHH] 92%, RELE 1980 4T ik
F| 85%.

The figure for Italy rose considerably to 92% in 2015, despite a drop

to 85% in 1980.




26. {EE FIAHEE 80 F 90% 2 B9 5 .
The figure for Germany fluctuated between 80% and 90%.




38 MNMEIRIECHE R

A 3 E B ERAE S
1. “millions” (# “thousands” 7t &) ¥ H BB ANBE IR 4, A
“+million or thousand” {72
2. “the number of”J5 [ — 3= AT A4 W I E 4L, “the amount of”,
“the quantity of’fl“the volume of'Z&fl, J& 1 Mgz nl $ 4 4 .
3. WERECHFAT LAHBreiE We”, MERBERFELFEERKP

4.

AR : North America had/a fower proportion of degraded

G S, AR 5 0 5 i 220 28— AR A, I/ AE IR
i
51 ER I A A 2 T8 A, B 5| I EEE BT .

land, which was only 5%.

IEfRIH1F: North Amegtica\had a lower proportion of degraded
land, at only 5%.

5.

TR R piXESE (Increase, drop £5) #E AR K AIEhiAE, %
B EIES v it “was increased 1] .

Reduce M raise X AN /IMESCHAR,  BENZ KX A3)i ;

arise tHABE B AR rise; “ascent/descent” AN g FIE/IME SCHL,
PR G IR, B AFASEL R “occupy”, i 2 {4 F “account
for/represent/constitute”
“outnumber” 1) £ & — R T H A I EE, ARER AR E 4 A
IM“overtake/surpass” i 315 2 A T AT 4410, B &
“number/figure/amount/proportion” X ¥ iil; “exceed” RN
F—MREE TR 2

XTGP R R . R SRR A B B AR R R T



10. SR . 2R — Bt 0, A RHER I — BB
I BRI A . i LTI AN T RE B

11. BNES B o v AR AN DS, TR BrigE s,
o — X A N e B — N CE i, an SR 43 i {2
ETFF, wie TR

12. FAS B A B SO, A AR TG (HARE
ACLAREAE RS 2 T8 — D)

13. IR Z A ARy s R R B 4n], T 2 A 1
(AR (R Ad 44 1 83 7018 25 B 4 ahim]) .

14. Increase/rise/drop iX L& 1] F /F 44 1] (1 B {15 2 FH A 7 7 17
“@’, E4niji“saw a drop”

15. L, LR A —FL.

16. doubled A K& AaA, B #Es

17. rise ({11 21 42 rose, 1AV rised. i 27322 risen,
1M A2 roses
18. “Percentage/proportion...accounted for" ki 2451, HA

N8 PAT LL7E 24 “accounted for” [ 44 1]

19. Per cent R M0+, % 4n14i“40 per cent”, T
percentage — A 115, JEHIZEN OF, “the percentage of ...”

20. While 3847, ZLERMAH)T .

21. ElaEishial, NiZAESh . 240 increased
slightly”s B = ASBE i “slightly increased”; slightly R g &1 44
LA /2 “a slightly increase” /& 551, WiZ&“a slight increase”

22. LA ANBRIB IR LL L), B i “was slight higher than”
FEAER, Eii“was slightly higher than”
23. remained 5T R BENNTE 220, k2 “remain constantly”

JEEEN, HA“remain constant”. “Maintain” A& “remain” [ % #:
W, EEndi, HAEii“remained the most important means of
transport”, 1A fEZ& maintained

24. “reach”iX A~1a] Ji5 [ BL#2 v] DLEecHE . 2 Wiji“reached 32
million”, A 75 ZhN“to”



25. EEhASEE, —M2 rose “4r"-fold, 1A 2 “rose five
times”

26. %A “comparing with’ 11, R A “compared with” [ 157%

27. MR ARG, LTI R ER, BOZH minimal,
A& minimum

28. FoRERHE, AT LA “people aged between 20 and
40", Afeiti“aged”’s i “age”

29. B ZRAE S 45 BRANRE R AR AN N AT HE DU A T
FAE R T AR B R AT 2 A A

30. KRR g AR I s, OB AR L2 fE &

PRI SE K o

B 2K
31. Equipment 2 AN u ¥4 17, fagilities /2 7] % 44 17 52 %k
32. Materials =2 # B = B, fli-€lement & 0 EZEE CREE
AT IRAERD
33. WIER APIRRAE B IR Bk A, A MZAE“A happens,
before B”
34. TR E A BE R BT A1)
C i
35. Cross &30, 1 across &/ ia (AREFE H4iEIE)
36. Expand 2 KHEE, expend Z4E 3% 1= &

37. Happen, take place X/R“KA"IEE, #RAHINES
38. Ho P BE T FN 23 (western side B{# eastern
side) , AREULACILFNIATIL (left side 1 right side)



18 R AR SO SR AR

KT /MESCHI A2 D51
1 E—DEGRE I HES B 2 3T IR R B D
2 e R (Bhs, R, i, R

3 e Bt Ia, TR RBEIERIE, — A& A ST 5. COF HA
R E SR T A LRI B R A7 AR e iR

A RXANEREL TR, Rl e ERIX a1
5 Hl I, R L) 7RI, B R Rl LLRAS 7 2

B A S I

SRS A

BB i [E] BB R — AN ]

o JEEMH (EJF. TREIAZ o EEHKAE
BE BN o EEmREAME —mE

o JEREIHE o HABSANIE T LT 704
AR A2 B R T R

PR AT SCR B IR £ iR

1) X GRS . X G2 B R B TR R AR T .

2) BPSIERR . 2 A—ROL R, AR AT RS I — AR I B
SO 25

3) MmN iR, MAMER. Frigas, mt— A XENREER
— AL CE, AR RE i BT, e BT

4) M EBEEE, A REAR AR CELA U AE s S e
—jk)

5) H#FEERE, T 2RI VE AR .



2R

2 iA]

The amount transported by road
saw a significant increase

The amount transported by road
increased significantly.

There was arise in the
unemployment rate between
2000 and 2005.

the unemployment rate rose
between 2000 and 2005.

The expenditure on clothing
saw a 5% fall.

The expenditure on clothing fell
by 5%.

/M SCHIE R

also, likewise, similarly

in contrast, however, on the other hand

B A S TE i BR

SR 1 HAE P

W 2 Hff S8 S IR X G A S AFIE FE IR X B N B
A

WIE3 T 8 TSN SArlEe | 1 e v DU SR 2 s
#o(1. EAER2F
W, 3 ANELH
i3 2)

W 4 MEREIT iR | Wi s E I e haiR

M SEFRE 7 R LA EE A
l<ask response:
2 cohesion & coherence: J%E#zi]

3 lexical resources:

FEREAFEE 2. X R

FRAAA PR AR AL

4 grammatical accuracy: 155 1) #E

5 grammatical range: ) 111284k




FASMECH 6 Db AR
KRR 1 AR
1. AN EAZ K FE (double) , M 50 3] 100.

IEffiZ % Electricity supply nearly doubled, rising from 50 to<100.

AR Electricity supply was nearly doubled, rised-from 50 to 100.
% 1. doubled A &Wahia], A BN
Eix 2: rise (it Z:B 2 rose

#5i% 3: doubled Al rose WiANahia], K&, 1 HAIES, &
rose {73 1A

2. 75 (land clearance )& iRt (degradation) )32 JH A,
3 T 10%.

IEffi2&%: Land clearance was the main reason for degradation,
accounting for.10%.

SRS The percentage of land clearance was the main reason for
degradation, accounts for 10%.

Ei% 1: accounts for —KINLER, BFASAT

kiR 2. “percentage...accounted for’ izt /& 45 )

3. AN _EFHF) 61 147E 2005, 7E 2006 E52 5% K F4 2 60 122 Hi .



B2 2. The population rose to 6.1 billion in 2005, before
declining slightly to 6 billion in 2006.

222 The population rose to 6.1 billions in 2005, before being
declined slightly to 6 billion in 2006.

&% 1: billion, million, thousand, hundred Z5#8AN RN s

L% 2: increased, declined iX S4im#8& A hial, A ¥

A0 2: A while, 53 although 51 SRRIEMNA] , 8L 2 but 5]
FH 4]

2Nk G o) TTICY i DR Ea

IE#if) 22 The number of marriagesrose, while the number of
divorces dropped.

A% The amount ofimarriages rose. While, the number of
divorces dropped.

ik 1. amount —fBG& T, T8, A FrixX de s ] 1) 44 1]

Hix 2: WhileG@iEw, ZERMNAIT.

4. BIRERPAR R AR EES, I T .

1B &% Although men outnumbered women in science, this
number declined.

R 2 Although men outnumbers women in science, this number
was declined.



Ei% 1: outnumbers B &SN

Ei% 2. increased, declined iX B6im#8 & A X Wshial, A #5h

Wi H)3 3. A after which, during which time, by which time, when,
where 5| 51 €15 M A

5. FHUH T HIEEAE 2005 EJHE) 2 O, R R U ORREAGT

IEffif2%: The number of mobile phone users rose.td 2-million in
2005, after which the figure remained constant.

%22 The amount of mobile phone users“rose to 2 millions in
2005, after which the figure was remained-constant.

Ei% 1. amount — B T, pE N X e B 11 4 )
#i1% 2: billion, million, thousand; hundred & &5 AN RLiZ N s

B3 3: remained RN EE BB

6. XM — HRRE 2005, AR —F, BISEABEZE LT,

1E 1145254 The trend continued until 2005, when the number of
divorces.rose markedly.

A% The trend continued and remained constantly until 2005,
when the number of divorces markedly rose.

R L BRI, BO%ERAR.

Hi% 2. remained S5 R GENE AR, FrPL& constant.



WA 4 RS
7. ZHE NI E 9 HLAE 2005 402 1955 4E1¢ 3 5 (15% #HLEL 5%) .

BRI %: 1: The proportion of elderly people in 2005 was three
times the figure in 1955 (15% versus 5%)

1E#fa2Z 2. 2: The proportion of elderly people in 2005 was 15%,
three times the figure in 1955 (5%).

22222, The proportion of elderly people in 2005 accounted for
15%, which was three times than 1955 (5%):

% 1. “percentage...accounted for’ iz Hi 1
Ei% 2. which was £ &
Ei% 3. FiESE proportion, 1955 % b AE 24

Ei% 4. R LA threefimes higher than B3 three times the figure
for ..o # three times’as-much as ... {H2 %% HAb T GEME

8. IR A BIFEASE 2 1 54 5 AMIG K.
IEMfifESE: 1: Residents in London saw a five-fold increase.

EMfZ%: 2: The housing price in London rose five-fold.

%22 The housing price in London rose five times.

Eim: ESISKEE, —K 2 rose five-fold



9. HAEZAE 2010 FF42 1.2%, KHEZ 2005 G f1—F

IERiI%2E: The birth rate in 2010 was 1.2%, around half the level in
2005.

n&A) 5. i LA AT B i
10.  FRAHAFENEIRaEN 7Bk,

IEffif2%: Young adults are more likely than middie-aged people
to study for career.

11, SREFIEIRR AR E R 2 .

IE#ifZZ: 1: The crime rate in the United States was higher than
in other countries.

IEffi2&%: 2: The crimerate in the United States was highest.

WA 6: there be f1)%Y
FEHUT T RAYR LA B &0 EF-

IEffE%: There was a marked increase in the spending on
teachers’ salaries.

PR E R R, TR SRR A
BN XA — H

| Public | Cycling | Car use




transport

The US 23% 15% 53%

China 67% 20% 7%

Jii% 1. while 51 2HPRTENA], AR A LU and J513% 17 1% 8%
FESRE, JFHER NEE, MR R ARD.

#1P%: in the US, the proportion of car users was highest, while;those
who travelled by bike accounted for the lowest proportion.

Jiik 2 EHINRIE
o ] 45 2 35 TR R o 5 [ ) = s

#1%: In China, public transport wass€d by a large proportion of
people, at 67%, three times the figure for the US.

Jiik 3. I A
ESESPIR PN A R 2D N =z e

#1PE 1: In the US)the proportion of car users was higher than the
figure for China:

#1%= 2..53% of Americans travelled by car, 46% higher than the
figure-for China.

Jiik 4 Rk
ESEPIRE YN £ 2

#i%: Cars represented the most popular means of transport for
Americans.



7J7i% 5:  in comparison with, compared with/to 1] F7%
FLEFFEM AN 53%, XL EF 7%.

H#PE: 53% of Americans travelled by car, compared with 7% of
Chinese people.

LIER S

a) N A LEH RS E?

b) ShSRT A B EREE? e 1. e ~FRETIEF 2: B
KU 3. IEEARAE

C) PR —MEE LT ? e .20 NEL TR 2. 104 BLE

d) &1 4 1958 —B/MEX, RS HRERENEE R4 B MEREE
I8 EERL

A P T BERE (— G & B ry i, #R2Er B
5, BRI )

e) 4i B SHA?

a) NHREE AR E ?
PRORZE B 2 B AN E], - BT BLab e S sl 25

b) SEEH ABMEREIE? i 1. fJa—FRBFILER 2. F—4F
A ik % 3. IEEALAE

RJa —FRB T ROVE R, HUGRH - ERECY, By RE TS K
ey EES



e L ATAE A T DABRS 17 [l 152

C) B — BRI T? %1 10U R 2: 104Uk
10 NELR R, WS 10 4y, SR B B R4

d) &1 4 F%E —BAME, REBSREENEEEMTA? HLAKEE
QAR R 2

F— AP BRSO LB ik, #E5 BL
5, HNBERES)

In both winter and summer, the lowest demand’is observed between
6 and 9 pm.

The most striking difference is thatthe peak demand occurs in the
afternoon in summer, while the winter sees the highest demand by
midnight.

R, ARt AT AT — T

The electricity consumption in winter is nearly twice that in summer.
VISANE IS AN (OB A3 B )
ANEF RS EATA T, TR SR

e) AeB S A?

A B B ) S 35 X B

S P HE A ) R A e R



H EARAR A

TR &

o WREKIE MMHRZIRZ EAE B BRIEE . FiE KR EaE

i E o A P R R B, TR AR B T B A R A
o LR RIERUA T L A B T AR (8] B B BORFIE , R PR M
o JiRE BN 0 U LR

fEi% Deliver, send, transfer, transport

Ak Convert into, transform into

1 Utilise, employ; use

LA Afterwards;subsequently, then, in the
next stepy after that,
Nexty finally
Atthe first stage, at the second stage,

Ty EEEA B A — AT
MOBH+EIPE (Bah, #9103 (inor by) +8% A

AR R 5 A HA)
e AE A
e I IR RERE (oven) |, BOINFAHIAR BG4 .

WA 1. FH where 5{% in which 5| & ¢ 5E1E M f)



# 25 1. Chocolate is sent to the oven, where it is heated and turned
into liquid.

wHAA 2: {8 before BiFE after+7) 17 14514

#: 22 2: Chocolate is sent to the oven, before being heated and
turned into liquid.

# A 3: A after which 5|3 1) 5E T M HJ

Z 2% 3: Chocolate is sent to the oven at the first’stage, after which it
is heated and turned into liquid. CIX/~)F HSER 25 > S5/t
FEXAMEE T, AW —a)E)

A 4: /A until, once BIEHRIRIETE M)

%2 4: Chocolate is placed’in'the oven, until it is heated and turned
into liquid.

(RAET R RN TSI ERE R, AERXMEBT, A —aa)

B ) et
H) M H and HER AN B

% 5: Chocolate is heated in the oven and turned into liquid.

WRATZR > H BRI PUE A 5 M)k, wf LUE M
H2dE R BRIEEE T, RREMEE XANMEEELR 3K,



L REHTA AT

Academic Writing Task 1 Brick Manufacturing
WRITING TASK 1
You should spend about 20 minutes on this task.

The diagram below shows the process by which bricks are
manufactured for the building industry.

Summarise the information by selecting and reporting the main ~~
features, and make comparisons where relevant. \

Write at least 150 words.

Brick manufacturing

sand + water

digger

wire cutter

— T
T
clay* 2 roller
c‘;‘;‘:":ggr Kiln Kiln
48 - 72 hrs -.— high -+— moderate 4 -48 hrs
870°C - 1300°C 200°C - 980°C
packaging
N
T ram shows how bricks are produced and what facilities are

collected by the digger, it is sent to the metal grid. Clay is put through
the metal grid and small particles then fall on the roller. At the next

Comment [ul]: f)=X 4: {3 until,
once 5| FIPIRIETE A

stage, these particles are combined/mixed with sand as well as water,

!before being cut by the wire cutter or shaped by the mould into bricks.

Comment [u2]: fi)F 5: f#i/f] and 4%
LR

-| Comment [u3]: /)= 2: {iif] before

B after+/MiA (4514




Next, these bricks are dried in the drying oven for 24 to 48 hours, and
placed in one kiln, in which they are heated at the temperature
between 200 and 980 C, and then in another kiln, in which they are
heated at high temperature between 870 and 1300 C. Bricks are
cooled in the chamber in the next step,

and delivered to customers.

Overall, brick production consists of four stages, starting from
collecting clay and ending in the delivery of bricks.

EURGIEH (EH 5 Fpa 7k, 285 EPRVEIRRTS l— R S,
—EEACEH, Bl ERSEAEID

The diagrams below show the stages and equipment used in the cement-making
process, and how cement is used to produce concrete for building purposes.

Summarise the information by selecting and reporting the main features, and
make comparisons where relevant.

Write at least 150 words.

Concrete Production

Cement Production

Limestone

z - Rotating
heater

Grinder Bags

*Gravel = small stones

after which they are packaged ; |

[ comment [u4]: A+ 5: i and %82
| B

~

h [ Comment [u5]: /)X 1: Al where 2k

in which 5| 5158 i& M A1)

J
=<

Comment [u6]: 7J=X 1: J] where sk

in which 5| 5 (1 & 18 M)

J

“( comment [u7]: A=k 3: {37 after

which 5| 315 i M)




H, ARATA] PAAE SCH A A 6) 1

#):0 1: H where B(# in which 5| 51 5E 15 MW H)
#):0 2: f#H before B after+73i (1) 4514
)0 3: f# after which 5] S /5215 A

3K 4: A until, once 51 FHERIETE M A
A)F 5: ] and EEH AL %

EYER S
1) FtAEE— A2 although SEEFIRTE WA ?

Although ZibBIRIEMNE], —BEMERT, HEREEMAR i
PR, AAAERAT . K although R T8 B, 2 anii —
N BSRA MR fe e 1Y, AR B n R B

2) Nt aimiE AN R RBCEE R ORI S ? i E R e w R AN
PRUOSAE B IR R s, MU B R g, ARELER

Ao T BIARER 2 I i a], ROz o e el X
TEIIT A o

YN 4 AR B4 4 H 2 ] “being done”, T AN 2 38 1K 25 B[
“doing”

AR IR Z W e B T HE A, ARSI ESE L, X

MR AR EE, 2473 “being done”



b 13

b ] 7L 43 P
AT H X e @t H
TE X R — A XA [FIET BA R | X LN T 1 22
A
1+ (FHF) br@H SB T =&
i 2 A £, AT RE AT | A I AE
TE B AR SR B 25
5 IR TR A R T 1), R
i, to the south, to'the
north )
FL[A] o AN[FHIECERIIAEA, K, WS I RA
(A=

o HREESEHUN LU ELAR

VAN Situated, located, sited, lying

(A To the east/west/north/south of
On the eastern/southern side of
In the north-eastern corner of
In the centre of

R Next to, near to, adjacent to

b PR 3 B A SRR E AL 1, R BT DUA 5 i€ L s
CEARravEIL, BB AR TUmMEE) 2, WRERA T, "L
WP ) — T NS Y R .



M R ) LN H LR L, AR S AR DL AN A I b
TENZ Y.

EAE N A VEA R

M 5 ANE AR (T =ME7 o8, R AT EEeA R 280

)=, 1: located/situated/sited/built/constructed-+3 &
12. , —HuEHh (wetland) 7E35 4 7E Fa i

A wetland is located to the southeast of«the’lack.

A 2: Hb S Awith+H S+ 547
13, XMHLIXAH —AMRARIB AR, TEEIAE — 1R,

This region has large“woodland with a farm to the south.

158 3: there'be f)7%!
14. SURFAFABE MR

There are two schools on the south-eastern corner of the area.

)3, 4: ¥ while, but Al and &R )T
15.  WimdbiA —AM, WA —N



A mountain is located to the north of the city, while there is a lake to
the south.

)i 5: fl%eh)
16. MR A A T

To the south of the river was a library.

A)50 6. 4 ETE M A] (BN it should be noted'that, it is worth
noting that, it is noticeable that, we can see that;it.is clear that, one
significant change is that)

6. (EATER MR BB IR M — KIN 2 W=

It is noticeable that the library has aZrOw of meeting rooms on the
eastern side.

RATZR > H CERERSMBTT LUE A 6 ) 7iik, A%l
%, BT, REENMEEEG XMEREESR 3K, e S a A
.



[ The two maps below describe the changes taking place in an area and |
| proposed changes in future. Summarize the information by selecting

J‘ and reporting the main features, and make comparisons where relevant.
|

“ Write at least 150 words.

(4|
)]
" o P
(4
housing area '\&
for walk\ - =
(plan) .  — — _
g i f r ey :
e, R
, (ihliwc;l

plan) | now ——
1968 future ——-

The maps show ho gﬁ?ﬂea has developed and what changes are

likely to happer@%{uture.

There is [a ri at crosses the area from north to south. [Situated to|
A\

Comment [u8]: AJ=X 3: there be fJ %! ]

the east\g&ﬁe river, a small housing area covered the north-western

corn e area in 1968. A forest was on the north-western corner

of ea with a city road to the west,
ide.

Since 1968, the forest has been replaced by buildings, while the |
housing area has doubled in size. [t is also noticeable that the city
road has been extended from west to east.
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In future, a new road is planned to be built to the south of the existing
and a church is to be constructed on the south-eastern corner

road,

with a car park next to it. |

Overall, the areas have seen an increase in constructions and
transport infrastructures and this trend is likely to continue in future.
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